4/23/2019 Fax



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

	Purchase Order	
Purchase Order Date	PO/Reference No.	Revision No.
Apr 23, 2019	AB0445183	original

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

. ,					
Buyer	Buyer Email	Buyer Phone Number			
cjt - Toler, Cherise	cjt - Toler, Cherise ctoler@tamu.edu 979.845.58				
Customer Contact:					
Name:	TAMU ORDERING [TAMU ORDERING DEPT 02-QENG			
Email:	purchasing@qatar.	purchasing@qatar.tamu.edu			
Phone:	+974 4423 0521	+974 4423 0521			

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/

Sup	plier Information	Delivery Information			
Supplier Name	STM MIDDLE EAST LLC	Delivery Address			
Address	SUITE NO: 212 AL QIYADAH BUILDING NEXT TO GALADARI MAZDA SHOR RM DUBAI, AE	TAMUS Member: (02) Niculina Said - Academic Services Texas A&M University at Qatar	02-Texas A&M University (02)		
FOB / FREIGHT	Destination	c/o Qatar Foundation			
Pre-Pay & Add	No	PO Box 23874			
Payment Terms	0, Net 30	Education City			
Contract Number - Header	C8700013	Doha, XX 0			
Contract Number - Line no value		Qatar Delivery Information			
Quote number		Required Delivery Date	May 12, 2019		
		Ship Via	Best Carrier-Best Way		

Notes to Supplier Shipping Instructions Note to Supplier For delivery on or before May 12, 2019. **PO Clauses** Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted. Charges Accepted TAMU Terms & Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M 102 Conditions University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/ From this website please select "Texas A&M University" from the drop-down menu.

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 27	INTRODUCTION TO CHEMICAL ENGINEERINGTHERMODYNAMICS	N/A	EA	100.00	15 EA	1,500.00

4/23/2019 Fax

/23/2019		Fax				
	8TH Edition ISBN: 9781259921896 Author J.M. SMITH, H.C. VAN NESS, Publisher: MCGRAW-HILL			USD		USD
2 of 27	FUNDAMENTALS OF NATURAL GAS PROCESSING 2ND EDITION. ISBN- 9781420085198 Author: J. KIDNAY, WILLIAM R. PARRISH, DANIEL G. MCCARTNEY (2011) Publisher: T&F	N/A	EA	144.70 USD	25 EA	3,617.50 USD
3 of 27	NATURAL GAS PROCESSING FROM MIDSTREAM TO DOWNSTREAM 2018 Edition ISBN-9781119270256 Author! ELBASHIR N. O.; EL-HALWAGI M. E.; ECONOMOU I.; HALL K Publisher: WILEY	N/A	EA	200.00 USD	25 EA	5,000.00 USD
4 of 27	SIGNALS AND SYSTEMS ANALYSIS USING TRANSFORM METHODS AND MATLAB ISBN-9781260083606 Author:J. ROBERTS Publisher: MCGRAW-HILL	N/A	EA	100.00 USD	30 EA	3,000.00 USD
5 of 27	INTRODUCTION TO COMPUTER SECURITY 2014 ISBN: 9781292025407 Author:MICHAEL GOODRICH AND ROBERT TAMASSIA Publisher: PEARSON	N/A	EA	75.00 USD	30 EA	2,250.00 USD
6 of 27	COMPUTER AND INFORMATION SECURITY ISBN-9780128038437 Author: JOHN VACCA Publisher: MORGAN KAUFMANN	N/A	EA	120.00 USD	30 EA	3,600.00 USD
7 of 27	PYTHON CRASH COURSE: A HAND ?ON, PROJECT ?BASED INTRODUCTION TO PROGRAMMING 2016 Edition ISBN-9781593276034 Author:ERIC MATTHES Publisher:NO STARTCH PRESS	N/A	EA	36.00 USD	20 EA	720.00 USD
8 of 27	MICROELECTRONIC CIRCUITS 7TH Edition ISBN-9780199339143 Author: SEDRA/SMOTH Publisher:OUP	N/A	EA	126.00 USD	35 EA	4,410.00 USD
9 of 27	MICROELECTRONIC CIRCUITS LABORATORY EXPLORATIONS 7TH Edition ISBN-9780199339259 Author: SEDRA/SMOTH Publisher:OUP	N/A	EA	22.00 USD	35 EA	770.00 USD
10 of 27	ENGINEERING ETHICS: CONCEPTS AND CASES ISBN- 9781337554503 Author: CHARLES E. HARRIS AND OTHERS Publisher: CENGAGE	N/A	EA	95.00 USD	20 EA	1,900.00 USD
11 of 27	THE ARAB AVAT-GARDE: MUSIC, POLITICS, MODERNITY 1ST Edition ISBN-9780819573865 Author:BURKHALTER, THOMAS Publisher: WESLEYAN UNIVERSITY PRESS	N/A	EA	25.00 USD	30 EA	750.00 USD
12 of 27	BLUES PEOPLE: NEGRO MUSIC IN WHITE AMERICA 1ST Edition ISBN-9780688184742 Author:LEROI JONES Publisher:HARPER PERENNIAL	N/A	EA	15.00 USD	30 EA	450.00 USD
13 of 27	WE THE PEOPLE ESSENTIALS 11TH EDITION ISBN-9780393639988 Author:GINSBURG, BENJAMIN, THEODORE LOWI, MARGARET WEIR,	N/A	EA	85.00 USD	40 EA	3,400.00 USD

23/2019	ļ	-ax				
	AND CAROLINE TOLBERT Publisher: W. W. NORTON & COMPANY					
14 of 27	POLITICS IN STATES AND COMMUNITIES 15TH Edition ISBN- 9780205994724 Author:THOMAS R. DYE; SUSAN A. MACMANUS Publisher:PEARSON	N/A	EA	165.00 USD	40 EA	6,600.00 USD
15 of 27	DEMOCRACY IN AMERICA ISBN- 9780872204942 Author:ALEXIS DE TOCQUEVILLE; SAN FORD KESSLER (EDITOR) Publisher:HACKETT PUBLISHING	N/A	EA	13.78 USD	40 EA	551.20 USD
16 of 27	GENERAL CHEMISTRY PRINCIPLES AND MODERN APPLICATIONS 11TH Edition ISBN-9780134097329 Author: PETRUCCI, HERRING, MADURA, BISSONNETTE Publisher:PEARSON	N/A	EA	135.00 USD	30 EA	4,050.00 USD
			I			
17 of 27	SELECTED SLOUTION MANNUAL FOR GENERAL CHEMISTRY 2016 Edition ISBN-9780133387902 Author: PETRUCCI, HERRING, MADURA, BISSONNETTE Publisher:PEARSON	N/A	EA	76.65 USD	30 EA	2,299.50 USD
18 of 27	CHEMISTRY LABORATORY MANUAL (PACKAGED WITH STUDENT LAB NOTEBOOK) 6TH Edition ISBN-9781533902566 Author: HUGHBANKS Publisher:HAYDEN MCNEIL	N/A	EA	41.50 USD	30 EA	1,245.00 USD
19 of 27	STEWART'S CALCULUS: EARLY TRANSCENDENTALS 8TH Edition ISBN-9781285741550 Publisher: CENGAGE	N/A	EA	269.00 USD	80 EA	21,520.00 USD
20 of 27	STUDENT SOLUTIONS MANUAL FOR STEWART'S SINGLE VARIABLE CALCULUS: EARLY TRANSCENDENTALS 8TH Edition ISBN-9781305272422 Publisher: CENGAGE	N/A	EA	85.00 USD	80 EA	6,800.00 USD
21 of 27	LINEAR ALGEBRA AND VECTOR CALCULUS ISBN-9781256983699 Author: S. LEON AND S. COLLEY Publisher:PEARSON	N/A	EA	149.06 USD	35 EA	5,217.10 USD
22 of 27	CALCULUS: EARLY VECTORS ISBN-9780534493486 Author:JAMES STEWART Publisher:CENGAGE	N/A	EA	196.79 USD	20 EA	3,935.80 USD
23 of 27	STUDENT SOLUTIONS MANUAL FOR STEWART'S CALCULUS: EARLY VECTORS . ISBN -9780534359522 Author: I. STEWART, J. STEWART, J. A. COLE, D. DRUCKER, D. ANDERSON Publisher: CENGAGE	N/A	EA	53.47 USD	20 EA	1,069.40 USD
24 of 27	MASTERING PHYSICS WITHOUT E TEXT (INSTANT ACCESS FOR UNIVERSITY PHYSICS WITH MODERN PHYSICS) 14TH Edition ISBN-9781784486426 Author: YOUNG AND FREEDMAN Publisher:PEARSON	N/A	EA	95.00 USD	35 EA	3,325.00 USD
25 of 27	HEAT AND MASS TRANSFER 5TH Edition ISBN-9789814595278 Author: CENGEL AND GHAJAR Publisher:MCGRAW-HILL	N/A	EA	100.00 USD	10 EA	1,000.00 USD

4/23/2019 Fax

26 of 27	Shipping - Grad Books (lines 2 & 3)	N/A	EA	7.50 USD	50 EA	375.00 USD
27 (27		, NA		7.50.1/50	720.54	5 475 00
27 of 27	Shipping - Undergrad books	N/A	EA	7.50 USD	730 EA	5,475.00 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States